John

| was making up a ‘chart’ for easy reference when | found the text in Column A, row 7, of the video did not produce
the results in column B — shown below. The text “A_|b” converts to “Aib”.
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2 |la,|band|c o, 3 and ¥
3 |2 and y DA 5 w* and y 09
4 1A TandB 2 3 Ay and By
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B [laland|b 2 3 oy and [Sea
7 A |band Al b Ag and Ay
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Snip from my spread sheet:-

|la, |band |c o, Band x
x"2 and yAOAN.AS x> and y>~
A landB 2 3 A, and By

P[min] and K[max] P, and K.,
l]a_ 1and |b_2 3 o; and Bys
A |band A| b Ag and Aib

Al|b+|c] and B[b+c] Ag,, and By,




